Class- 5"
Date - 27/08/2025
Revisional Assignment
Instructions :- 1. Do all the work in fair notebook day-wise.
2. Write in neat and clean handwriting.
English

Q.1 Why do you think Tom did not like going to school? If you were Tom's friend, how would
you counsel/ convince him to attend the school regularly? ( 3 Marks)

Ans . Tom did not like to go to the school because he did not like school .Going to school on
Monday was most difficult for Tom. If | were Tom's friend | would convince him to attend the
school regularly by telling him the importance of school life.

Q.2 Do you think Shankar or Pea had written the word tail on the blackboard? Give a reason
for your answer.( 3 Marks)

Ans. | think neither Shankar nor Pea had written the word Tail on the blackboard because
Shankar's head was bent over the notebook and Pea was busy in unpacking his bag.

Q.3 Why could Benny not bear to return books? ( 3 Marks)

Ans. He could not bear to return the books when he saw his book case was slowly filing-
up.(4 marks)

Q.4 Why did Drona ask for Ekalavya right thumb as Guru Dakshina?(3 marks)

Ans. Drona asked for Ekalavya's right thumb as Guru Dakshina because his love for Arjuna
cross the limits of fairness.
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Maths

Q1. Arrange in Ascending order: 11.1,11.604 ,11.406, 11.064
(2 marks)

Solution: 11.064, 11.1,11.406, 11. 604

Q2. Arrange in ascending order: 90.456, 90.564, 90.406, 90.650 (2
marks)

Q3.A shopkeeper had 32.5 kg apples, 25.25 kg mangoes and 9.75 kg pears. What is the
total weight of fruits he had?
(8 marks)

Q4. Anjali spent X 25 onice-cream,X 17.50 on chips and ¥ 12.50 on a pen. Find the total
money spent by Anjali.
(8 marks)

Q5. A box contains 144 pencils. How many boxes are needed to pack 1,00,080 pencils ?
(5 marks)

Q6. One packet contains 385 sweets. How many sweets can be packed in 52,690 packets ?
(5 marks)

Science

Q1 Insome places, wild animals like tigers, elephants, and deer are hunted for their skin,
tusks, or horns. Why do you think hunting them for fashion or money is dangerous for
nature and humans? Write any three points (3 marks)

Answer: - 1. It reduces the number of animals and can make them extinct.
2. The food chain and balance of the forest are disturbed.
3. Humans lose valuable resources and harm their own future.

Q2 Imagine if our bones are made of rubber instead of hard material. What problems will
we face? Write any three points. (3 marks)



Answer:- 1. Our body will bend easily and not stay straight.
2. We can not walk, run or even stand properly.
3. Protection of delicate organs (like brain, heart) will not be possible.

Q3 Suppose forests can walk and move from one place to another. How will life change?
Write any five points.

(5 marks)

Answer:- 1. People can not depend on one fixed forest for resources.
2. Animals living inside will keep shifting homes.

3. Farmers and villagers will face sudden changes in climate.

4. Some areas may suddenly get greenery, others may lose it.

5. Human planning for food, shelter, and water will become difficult.

Q4 If bees and butterflies disappeared, how will it affect reproduction in plants? Write any
five points.

(5 marks)

Answer:- 1. Pollination in many flowering plants would stop.

2. Fruits and seed production would decrease.

3. Human food supply (fruits, vegetables, grains) would be affected.
4. Other pollinators (like wind, water, birds) may not be enough.

5. Some plant species may slowly become extinct.

Q5 If all plants reproduced only by seeds, what problems can arise in nature? Give any five
points.

(5 marks)

Answer :- 1. Some plants may become extinct because seeds need proper conditions
(soil, water, air, temperature) to grow.

2. Plants that usually reproduce by vegetative parts (like potato, onion, sugarcane) will not
survive.

3. The variety of plants will decrease because not all plants produce seeds every year.



4. It will take longer for plants to spread and cover large areas, as seeds take time to
germinate.

5. Humans and animals will lose many useful plants that reproduce only by vegetative
propagation or spores (like ferns, moss).

Social Science

Q1.In what ways does the presence of a family contribute to a individual's sense of security
and stability? (5 marks)

Answer. Family makes feel safe because we know our parents and elders protect us from
harm. Their guidance and care give us confidence to face challenges in life without fear.

Q2.Discuss the significance of family in shaping a child's life and development. (5 marks)

Answer. A family provide love, care and protection to a child. It helps his overall growth,
teaches values and gives support in difficult time. That's why family is most important for a
child.

Q3 "People give preference to live in cities." Write your views about the statement. (2
marks)

Answer. People migrate from villages to cities in search of better jobs, education,
healthcare and living facilities. Cities offer more opportunities.

Q4 .Which conditions or circumstances drive people to leave their place of residence? (2
marks)

Answer. Push factors include poverty, unemployment ,lack of facilities ,natural disaster and
unsafe conditions in the place of living.

Q5. What challenges and hardships are commonly face by migrants? (2 marks)

Answer. Migrants face problems like lack of housing, high expensive, unemployment,
language barriers and adjustment issues in new areas.



